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QUESTION 1

What is configured in an Acceleration policy? (Choose the best answer) 

A. Redundant Steelhead Mobile Controllers 

B. In-path rules 

C. Group IDs 

D. Port labels 

Correct Answer: B 

 

QUESTION 2

If data store synchronization is to be successful, which of these must be true? 

A. There must be a resilient path between the SteelHeads to prevent a split brain situation. 

B. The in-path IP addresses must be reachable from each other and connected physically in-path. 

C. The SteelHeads must be the same model and run the same RiOS version. 

D. The master must be the same or larger data store than the backup. 

E. The SteelHeads must be in a serial cluster arrangement. 

Correct Answer: B 

 

QUESTION 3

You are troubleshooting a TCP connection that is not being optimized. On the Current Connections report, you expand
the connection and see the pass-through reason is `Pre-existing connection\\'. 

Without restarting the oprimization service, how could you get this connection to optimize? 

A. Reset the connection in the Current Connections report. 

B. Create a full-transparency in-path rule for the source and destination hosts. 

C. Create a fixed-target in-path rule for the source and destination hosts. 

D. Enable auto-kick-off on the default in-path rule. 

E. Enable Simplified Routing in `all\\' mode. 

Correct Answer: A 
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QUESTION 4

What is "Peer Affinity" on an Interceptor appliance? 

A. Which parallel Interceptor appliance an Interceptor appliance is most likely to forward traffic to 

B. Deciding which of the two serial Interceptors handles more traffic 

C. Matching remote Steelhead appliances to a local Steelhead appliance 

D. The shipyard from which Riverbed is most likely to ship Interceptor appliances 

Correct Answer: C 

 

QUESTION 5

A SteelHead is deployed in a VLAN bridge. Which VLAN ID should be configured on the in-path interface to support this
environment? 

A. 1 

B. 100 

C. 200 

D. No configuration is necessary as LAN and WAN interfaces are on access ports 

E. It will require an in-path interface for each VLAN 

Correct Answer: C 
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